Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2023-2024 y4ebublii 10o/]. 3aKJIIOYUTEJILHBIA Ty
Pabora ygacTnuka c id 3assku 1245148, norunom inf24f 259

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

Run ID Time
251 1:39:05
463 3:08:04
693 3:59:31
183 1:10:47
186 1:11:14

User name Problem Language Result Tests Score
inf24f 259 1 g++ 0K 28 100

inf24f_259 2 g++ Partial solution 20 68
inf24f_259 3 g++ Partial solution 5 8
inf24f_259 4 g++ 0K 21 100

inf24f 259 5 g++ 0K 22 100

376 TexHmuYecKux 6aiiosB

62 UWTOTOBHX

6amnna



IToceinka 1o 3amaqe 1

[1] #include <bits/stdc++.h>
[2] using namespace std;

[3]

[4] typedef long long 11;
[5] typedef long double 1d;

[e]

[7] wector<ll> T;

(8]

[9] bool conv(ll x) {

[1e]
[11]
[12]
[13]
[14]
[15]
[1e]
[17]
(181}
[19]
[20] int
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[4e]
[41]
(421}

int cntl = 8;
for (int 1 = (int)T.size() - 1;i »= 4;i --) {
if (x »= T[i]) {
x -= T[1i];
cntl += 1;
3

¥
return (cntl % 2 == @);

main() {
ios::sync_with_stdio(false);
cin.tie(nullptr);

int N = 60;
T.resize(N);
T[e] = e;
T[1] = e&;
T[2] = 85
T3] = 1;

for (int,i = 4;1i < N;i ++) {
T[] = T[i - 1] + T[i - 2] + T[i - 3] + T[i - 4];

int n;
cin »> n;
int ans = 8;

while(n --) {
int x;
cin »> x;

ans += conv(x);
3
cout << ans;
return 8;
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[1] #include <bits/stdc++.h>
[2] using namespace std;

[3]

[4] typedef long long 11;
[5] typedef long double 1d;
(6]

[7] vector<vector<ll>> cnt(9, vector<ll> (1000080));
(8]

[9] string s;

[18]int d = -1;

[11]

[12] int get_deep(int pos, int deep) {
[13] if (s[pes] == 'Q") {

[14] int tec = pos + 1;

[15] for (int i = @;1 < 8;1 ++) {
[16] tec = get_deep(tec, deep + 1);
[171] 3

[18] return tec;

[19] 1 else {

[20] d = max(d, deep);

[21] return pos + 1;

[22] 1

[23]}

[24] string alph = "WROYGCBVD";
[25] map<char, int> m;

[26] int dfs(int pos, int deep) {
[27] if (s[pos] == 'Q") {

[28] int tec = pos + 1;

[29] for (int 1 = 8;1 < 8;1 ++) {
[30] tec = dfs(tec, deep - 1);
[31] }

[32] return tec;

[331] 1 else {

[34] cnt[m[s[pos]]][deep] ++;
[35] return pos + 1;

[36] }

(371}

[38]

[39] string conv(1l x) {

[40] if (x == @) return "G80";
[41] if (x == 1) return "@01";
[42] if (x == 2) return "810";
[43] if (x == 3) return "011";
[44] if (x == 4) return "1008";
[45] if (x == 5) return "181";
[46] if (x == 68) return "1108";
[47] if (x == 7) return "111";
(48]}

[49]



[56] void print(string & tec, int d) {

[51]1 /%
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[60]
[61]
[62]
[63]
[64]
[65]
[66]}
[67]
[68] int
[69]
[7e]
[71]
[72]
[73]
[74]
[75]
[76]
[77]
[78]
[79]
[80]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]
[89]
[9e]
[91]
[92]
[93]
[94]
(9517

reverse(tec.begin(), tec.end());

while(tec.back() == '8') tec.pop_back();
reverse(tec.begin(), tec.end());*/
string prev;
for {(int 1 = @;i < 3 * d;i ++) {

prev += tec[tec.size() - 1 - i];
}
reverse(prev.begin(), prev.end());
tec = "B." + prev;
while(tec.back() == '8') tec.pop_back();
if (tec == "0.") {

cout << "1.8";
telse {

cout << tec;

}

main() {

ios::sync_with_stdio(false);

cin.tie(nullptr);

for (int 1 = 0;1i < 9;1 ++) {
m[alph[i]] = 1;

cin >> s;
get_deep(®, 8);
dfs(e, d);
vector<string> ans(9);
for (int j = @; j < 9; Jj++) {
int last = 8;
for (int 1 = ©; 1 < 1086008 - 1; i++) {
cnt[j][1 + 1] += ent[j][1] / 8;
ent[j1[1] = cnt[JI[1i] % 8&;
if (ent[j][1i] != @) last = i;
3
for (int i = last;i »= @;1 --) ans[j] += conv(ent[j][1]);
if (ans[jl.empty()) ans[j] = '@";

int ind = 8;
for (int 1 = 1;i < 9;1 ++) {
if (ans[i] » ans[ind] || (ans[i] == ans[ind] &% alph[i] < alph[ind])) ind
}
cout << alph[ind] << "\n';
print(ans[ind], d);
return 8;

i;
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[1] #include <bits/stdc++.h>
[2] using namespace std;

[3]

[4] +typedef long long 11;
[5] typedef long double 1d;

[6]

[7]

(8]

[9] vector<int» To(string s) {

[10] int n = (int)s.size();

[11] vector<int> a;

[12] int i = 9;

[13] while(i < n) {

[14] if (s[i]l == '[") {

[15] a.push_back(@);

[16] i += 2;

[17] }

[18] if (s[i] == '1i") {

[19] if (1 + 1< s.size() & s[1 + 1] == "(') {
[20] if (i + 2 < s.size() &R s[i + 2] == "(") {
[21] a.push_back(3);

[22] i+= 3;

[23] } else {

[24] a.push_back(2);

[25] i+=2;

[26] ¥

[27] } else {

[28] a.push_back(1);

[29] i4=1;

[30] }

[31] 3

[32] if (s[i] == 'I') {

[33] if (L +1 < s.size() & s[i + 1] == "(") {
[34] if (i + 2 < s.size() & s[i + 2] == "(") {
[35] a.push_back(6);

[36] i+=3;

[37] } else {

[38] a.push_back(5);

[39] i+=2;

[40] ¥

[41] } else {

[42] a.push_back(4);

[43] i+=1;

[44] }

[45] 3

[46] if (s[i] == '3") {

[47] if (A +1< s.size() & s[i + 1] == ")") {
[48] if (1 + 2 < s.size() &R s[i + 2] == ")") {
[49] a.push_back(9);

[5@] i+=3;

[51] } else {

[52] a.push _back(8);

[53] i4= 25

[54] ¥

[55] } else {

[58] a.push_back(7);

[57] 1= 1;

[58] 1

[59] J

[60] if (s[i] == '§") {

[61] SF (i +1 < s.size() && s[4 + 1] == )" |
[62] if (i + 2 < s.size() &R s[i + 2] == ")") {
[63] a.push_back(3);

[64] i+= 12;

[65] } else {

[66] a.push_back(2);

[67] i+= 115

[68]

[69] } else {

[78] a.push_back(1);

[71] i += 18;

[72] 1

[73] }

[74] L

[75] reverse(a.begin(), a.end());

[76]

[77] for (i = a.size() - 1;i > @;1 --) {

[78] if (a[i] == 12) {

[79] ali - 1] += 1;

[8e] a[i] = @;

[81] }

[82] b

[83] if (a[0] == 12) {

[84] a[e] = o;



[85] a.insert(a.begin(), 1);

[86] ¥

[87] return a;

[88] }

[89]

[oe]

[91] bool menee(vector<int»& a, vector<int»& b) {
[92] if (a.size() < b.size()) return true;
[23] return a < b;

[e4]

[e5]

[96] bool bolee(vector<int>& a, vector<int>& b) {
[97] if (a.size() » b.size()) return true;
[98] return a > b;

(991 1

[1e@]

[101]

[182] map<vector<int>, string> m;

[103]

[184] vector<string> alph = {

[1@5] RO L (O G S G (G A ) R D D
[186] };

[107]

[188] vector<int> help(int x) {

[109] vector<int> ans;

[11@] while(x 1= @) {

[111] ans.push_back(x % 18);

[112] x /= 18;

[113] ¥

[114] reverse(ans.begin(), ans.end());
[115] return ans;

[116] }

[117]

[118]

[119] int main() {

[128] ios::sync_with_stdio(false);
[121] cin.tie(nullptr);

[122] int n;

[123] cin »> n;

[124] for (int i = 1; i <= n; i++) {
[125] string tec;

[126] for (auto x : help(i)) tec += alph[x];
[127] m[To(tec)] = tec;

[128]

[129] int k = -1;

[130] int 1 = -1;

[131] vector<int> mini;

[132] vector<int> maxi;

[133] for (int 1 = 8;1 < n;i ++) {
[134] string s;

[135] cin >> s;

[138] vector<int> tec = To(s);
[137] if (mini.empty()) {

[138] mini = tec;

[139] k = 1i;

[14e] ¥

[141] if (maxi.empty()) {

[142] maxi = tec;

[143] 1= i;

[144] }

[145] if (tec == mini) {

[146] k = i;

[147] lelse if (menee(tec, mini)) {
[148] mini = tec;

[149] k = i;

[15@]

[151] if (tec == maxi) {

[152] 1=1i;

[153] lelse if (bolee(tec, maxi)) {
[154] maxi = tec;

[155] 1=1i;

[156] }

[157]

[158] if (mini == maxi) {

[159] k=n-2;

[160] l=n-1;

[161] ¥

[162] k ++;

[163] 1 ++;

[164] if (k » 1) swap(k, 1);

[165] cout << m[help(k)] << endl << m[help(1l)];
[166] return ©;

[1671 %

ujn, uj)uJ

J

DN
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[1] #include <bits/stdc++.h>

[2] using namespace std;

[3]

[4] typedef long long 11;

[5] typedef long double 1d;

(6]

[7] int main() {

[8] ios::sync_with_stdio(false);

[9] cin.tie(nullptr);

[18] int n, m;

[11] cin >> n >> m;

[12] 11 dp[m + 1][n][n][n];

[13] 11 cost[n][m];

[14] int stl, st2, st3;

[15] cin >> st1 >» st2 »> st3;

[16]

[17] for (int i = 6;1 < n;i ++) {

[18] for (int § = 8;3 < m;j ++) {

[19] cin »> cost[1i][]];

[2e] }

[21] }

[22] for (int x = B;x < njx ++) {

[23] for (int y = 8;y < n;y ++) {

[24] for (int z = @;z < njz ++) {

[25] dp[@][x]ly]llz] = -1;

[26] I

[27] }

[28] 1

[29] dp[@][st1][st2][st3] = ©;

[38] set<int> dop = {stl, st2, st3};

[31] for (auto ind : dop) dp[@][stl][st2][st3] += cost[ind][@];
[32] for (int 1 = 1;1 < mpi ++) {

[33] for (int x = @; x < n; x ++) {

[34] for (int y = @;y < n;y ++) {

[35] for (int z = @;z < n;z ++) {

[36] 11 tec = @;

[37] dop = {x, v, z};

[38] for (auto ind : dop) tec += cost[ind][i];
[39] dp[il[x]ly1lz] = -1;

[40] for (int a = max(®, x-1);a < min(n, x + 2);a ++) {
[41] for (int b = max(@, y-1);b < min(n, y + 2);b ++) {
[42] for (int ¢ = max(@, z-1);c < min(n, z + 2);c ++) {
[43] if (dp[i - 1][2][b][c] == -1) continue;
[44] dp[il[x1ly1lz] = max(dp[il[x][y1[z], dp[i - 11[al[bllc] + tec);
[45] ¥

[46] 3

[47] }

[48] b

[49] b

[5e] 1

[51] }

[52] 11 ans = -1;

[53] for (int x = 8; x < n; x ++) {

[54] for (int y = 8;y < n;y ++) {

[55] for (int z = @;z < n;z ++) {

[56] ans = max(ans, dp[m - 1][x][y]1[z]);

[57] I

[58] }

[59] 1

[60] cout << ans;

[61] return @;

[62]}
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[1] #include <bits/stdc++.h>
[2] using namespace std;

[3]
[4] typedef long long 11;
[5] typedef long double 1d;

[6]

[7] int conv(char x) {

[8] return (int)x - 33;

[s1 %

[1e]

[11] bool chk(vector<int> & need, vector<int> & tec) {
[12] for (int 1 = @;1 < 100;1 ++) {

[13] if (tec[i] < need[i]) return false;
[14] 1

[15] return true;

[1e] }

[17]

[18] int main() {

[19] ios::sync_with_stdio(false);

[2@] cin.tie(nullptr);

[21] string s;

[22] cin >»> s;

[23] int n = (int)s.size();

[24] /* vector<vector<int>> a(n + 1, vector<int> (100));
[25] for (int 1 = 1; 1 < n; i++) {

[26] a[i][conv(s[i - 1])] ++;

[27] for (int j = ©;j < 188;j ++) {
[28] a[i][3] += a[i - 1][3];
[29] }

[3e] 3E/

[31] vector<int> tec(100);

[32] vector<int> need(108@);

[33] string b;

[34] cin >> b;

[35] for (int i = 8;1i < b.size();i ++) {
[36] need[conv(b[i])] ++;

[37] 1

[38] int r = 1;

[39] tec[conv(s[@])] ++;

[4@] int left = -1, right = -1;

[41] for (int 1 = @;1 ¢ n;i++) {

[42] while{r < n &2 !chk(need, tec)) {
[43] tec[conv(s[r])] ++;

[44] ro++;

[45] }

[46] if (r <= n &% chk(need, tec)) {
[47] if (left == -1 || r - i < right - left) {
[48] right = r;

[49] left = i;

[5e] b

[51] 1

[52] tec[conv(s[i])] --;

[53] }

[54] if (left == -1) return 8;

[55] for (int 1 = left;i < right;i ++) {
[56] cout << s[il;

[57] }

[58] return 8;

[5911%



IToceLnoK 110 3aga4ye 6 He OBLIO



